ATMO 170 Sect. 1




Name_________________________________________

Quiz #1  Feb. 17, 2016





(please also put your name on the back)

1.
(5 pts) Photosynthesis is the source of most of the _______ in today’s atmosphere. 


a. carbon dioxide      b. nitrogen      c. water vapor      d. oxygen      e. argon      f. hydrogen

2.
(5 pts) Coal burning power plants emit _______ that can travel 100s even 1000s of miles 
before 
reacting 
with water in clouds and falling to the ground as acid rain.


a. sulfur dioxide

b. radon
c. carbon monoxide
d. chlorine
e. ozone

3.
(5 pts) Archimedes law states that an object immersed in a fluid experiences 


a(n) ______________________________ equal to the weight of the fluid that is displaced.

4.
(5 pts) To determine whether the winds will be fast or slow you should look at whether


a. the air is rising or sinking

b. the isobars are closely or widely spaced


c. the air is hot or cold


d. the surface winds are clockwise or counterclockwise

5.
(10 pts) The pressure at any level in the atmosphere depends on the weight of the air   BELOW  ABOVE.  Air density at the top of Mt. Lemmon (9000 ft. alt.) is  HIGHER  LOWER  than in Tucson (2500 ft. alt.)

6.
( 5 pts) The air surrounding a balloon in the atmosphere pushes on the top, bottom, and all the sides of 
the balloon.  Does the pressure of the surrounding air exert a net  UPWARD, a net  DOWNWARD, or  
ZERO  net force on the balloon.

7.
(15 pts)  Cloud formation is more likely with surface centers of  LOW  HIGH  pressure because they cause air to  RISE  SINK and  WARM  COOL

8.
(5 pts) ___________________ is the main ingredient in photochemical (Los Angeles type) smog.

9.
(5 pts)  Inches of mercury are units of _______.


a. density
b. temperature

c. mass

d. pressure
e. weight
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10.
(15 pts)  The figure at right shows a cross-sectional view of a  WARM  
COLD
front.  The air at Point A  is  COLDER  WARMER  and has


HIGHER  LOWER  density than the air at Point B.

11.
(5 pts) The atmospheric concentration of _______ can range from near 0  up to 3% or 4%.


a. argon

b. oxygen
c. ozone
d. carbon dioxide
e. water vapor

12.
(5 pts) The air will often turn a deep blue color after a rainstorm which means the air is very _______.


a. clean

b. cold

c. moist

d. hot

e.  polluted
f. dry

13.
(10 pts) Thunderstorms are an indication of  STABLE  UNSTABLE  atmospheric conditions.  Increasing 
temperature with increasing altitude creates  STABLE  UNSTABLE  atmospheric conditions.

14.
(10 pts) If you warm a parcel of air in the atmosphere it will obey Charles' Law which means the 
density 
of the air in the parcel will  INCREASE  remain  CONSTANT  DECREASE  and the pressure of the 
air in the parcel will  INCREASE  remain CONSTANT  DECREASE. 








Name_________________________________________

15.
(5 pts) High concentrations of _______ is part of what made the Great London Smog of 1952 so deadly. 


a. chlorofluorocarbons

b. ozone
c. carbon dioxide
d. sulfur dioxide

16.
(10 pts) Isobars are contours of  ALTITUDE  PRESSURE  TEMPERATURE.  Winds spin in a  CLOCKWISE   COUNTERCLOCKWISE  direction around surface centers of high pressure.

17.
(5 pts) On the earth two objects that have the same weight must have the same _______.


a. density

b. volume

c. composition

d. mass

18.
(20 pts) The lowest layer in the atmosphere is the _______.  The ozone layer is found in the 
_______.  Cruising altitude for commercial aircraft is between 30,000 & 40,000 feet which is near the top 
of the _______.  Temperature increases with increasing altitude in the _______. 
(fill in each blank with 
T for troposphere or S for stratosphere)
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19.
(20 pts) The figure at right shows a  COLD  WARM  front.  Is the front 


moving toward  POINT A  or  POINT B?  The air at Point A is probably  
COLDER  WARMER  and  DRIER  MOISTER  than at Point B.

20. 
(5 pts) Oxygenated fuels are used in vehicles during the winter in Tucson to reduce  _______ emissions


a. carbon monoxide
b. ozone
c. sulfur dioxide

d. particulate matter
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21.
(15 pts) Is  MORE  or  LESS  than half of the sky covered with clouds?  

Is the temperature  BELOW  or  ABOVE  100o F?  Is 65 the value of the  

DEW POINT  or the  RELATIVE HUMIDTY?

22.
(5 pts) Chlorofluorocarbons (CFCs) in the atmosphere are of concern because they are greenhouse gases 
and because they _______.


a. react in clouds to make acid rain

b. are colorless, odorless, and poisonous


c. destroy stratospheric ozone

d. react with ozone to make photochemical smog 
23.
(15 pts) Carbon dioxide and _______ are the two main greenhouse gases.  Dry ice is solid _______.  About 20% of air  is _______. (fill in the blanks)


a. carbon dioxide (CO2)

b. water vapor (H2O)

c. ozone (O3)


d. oxygen (O2)


e. argon (Ar) 


f. nitrogen (N2)
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24.
(5 pts)  The winds shown at right are blowing 


from the      SE      NE      SW      NW

EXTRA CREDIT (you can earn up to 10 pts)
1.
(5 pts) The time in Greenwich, England (0o longitude) is 7 hours  EARLIER  LATER  than in Tucson.

2.
(5 pts) Would a dew point of 70o F in Tucson be considered  HIGH,  about  AVERAGE,  or  LOW. 

3.
(5 pts) The atmosphere can be split into layers according to how air    DENSITY  PRESSURE  TEMPERATURE  COMPOSITION   changes with altitude.
Students may use the following two equations on this quiz

P = N k T / V     &     P = ρ R T

